   Name:  
   Computation Monday:  January 30, 2017 (Due January 31st)
Directions: NO CALCULATORS!!!! Show all work. This assignment will be graded for correctness and all work must be shown in order to receive credit!!
1)   A recent survey shows that 3 out of every 5 women will breast feed their newborn.  If 561,000 babies were born in New Jersey, how many of them will be breast fed by their mother? 
2)   If a vertical yardstick (3 feet) casts a shadow of 1 3/4 feet, how tall is a building that casts a shadow of 82 feet? 
3)   If a 5.5 inch line on a map represents a 9 mile road, how many miles would be represented by a 25.5 inch line? 
4)   For every 10 people that complete a certain class four do not finish.  At that rate, out of 42 enrolled in the class how many will finish the class? 
5)   If a roller hockey's ratio of wins to losses over the last 3 years is 8 to 5, how many wins did it have out of the 156 games played? 
6)   If you can drive 160 miles in 3 hours, how long will it take to drive 400 miles at the same rate?
7)    The property tax on a house valued at $291000 is $3745 in Whitney County.  The property tax on a house valued at $545000 is $6225 in Housen County.

a) What is the ratio of property tax in Whitney County to Housen County?
b) What would be the property tax on a house valued at $545000 in Whitney County?

c) What would be the property tax on a house valued at $291000 in Housen County?
 8)   An insurance company discovered that 66% of the accidents in a certain chemical plant caused serious injury.  What fraction of the accidents in the plant did not cause serious injury? 
9)   A survey of employees in your company revealed that 4/9 of them would like a company-paid dental insurance policy instead of an increase in vacation days.  What percent of the employees did not want the company-paid dental insurance? 

